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Haylock and Cockburn(2008) : Understanding
Mathematics for Young Children: A Guide for Foundation
Stage and Lower Primary Teachers.
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J. Cummins(1984) §5 18 A i (E g i

o H&E A&E T T5(Basic Interpersonal
Communicative Skills)

« E2REES (Cognitive Academic Language
Proficiency)




BEES

0=
R Multiply, Multiplicand Vel - il Ragrl ]
(Vocabulary) 3k ;% 7 o £ 3E, 4o fotp B % i

multiply ~ times ~ product

#% 2 (Syntax) All numbers greater than 4 4p &1 B & & =fd 1%
Eight divided by four

# & Six times a number minus ~ 4p 1 EE R i s2
(Semantic)  five is equal to twice the B i

number plus ten.
¢l 2 F R AR SRR 3 N

(Discourse)
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IEp=95&a

R RHEET (APASO)

AR AT BIERAE
. B E4AE (General School)
. #7E (Mathematics)
=57 e . $HTFRE{% (Parent Relationships)

(Self-Concept)

. HEZERE % (Peer Relation)

. 4pR (Physical Appearance)

. 78 (Reading)
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Herbal tea (77 ; )

Turtle jelly(s% & F)

“24 flavours™(24+x)

Shrimp dumpling (& 4%)

Spring roll (% %)

How many grams do 6 packets of
sweets weigh?

397 bowls of cold turtle jelly were
sold last week.

Multiply, Times, Product, groups of

ERL I CRCI I ot Tk
7‘?\ gl ﬁ” “6 packets of sweets”
0& ‘\*

#\ & 39 $2% 2 “were sold

LN R SNy I I s
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NEEEERE = HYE/ R

RANNEREAOEER DSR4 4RI 4

%E —
e H A 2 FZHow many ~ How much -
ZS R altogether; more than - less
than

AR EFE R FHFgmultiply ~ times ~ product

R
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How many
How much
Altogether

More than
Less than
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2P How many

'. ‘\ )
o b= ¥ AV A 1,,__( A
/
. . ‘/
2. How many visitors are there today?
"; Ve Ay 4 V1 T4 4,1//
/74

3. How many more tomatoes

——

did Bill pick?

\.
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WPy How much

1. How much did he pay?

) e
€ \OC\\ gb' \') /) \ ’/\%

2. How thuch did she pay‘?/

She Pa‘\a‘ 20 oot
/

74



WPy Altogether

There are 82 red flowers and Column form
63 yellow flowers at the flower show.
How many flowers are there altogether? 82
+ 63
82 + 63 14 5
= 145

There are 145 flowers altogether.
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2Py more than

A toy bus costs 36 dollars. Column form

A toy bear costs 61 dollars more than a toy bus.

How much does a toy bear cost? 36
36+61 + 161

= 97 97

A toy bear costs 97 dollars.

32




NPy Less than

The cake shop earned 18 dollars from selling Column form
strawberry cakes % this week,which w as 12 18
dollars less than last week.
How much did the shop earn last week? kK L2
18+12 30
=30

The shop earned 30 dollars last week.
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There are 72 red flowers and

37 yellow flowers at the flower show.
How many flowers are there altogether?

Red flowers 12

Yellow flowers 37

Total flowers 12+ 37

37



2RI,
4l

Peter has 126 toy cars and

it

John has 380 toy cars.
How many toy cars do they have altogether?
/
Peter has (toy cars) 2/ //
John has (toy cars) 2%0 .
Total toy cars 2113 1%
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Jow much 3 cans of grape juice and a bottle of cola?

P4
< .. |
3 cans of grape juice R X 3 /
| bottle of cola B _/ T
Total costs 2 12 /
."/‘ £ )
‘>‘f b /)/
""/;2 /L/’f) Fl 2
= 2 IO g
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+ 68 X
153 Thesumof85and68i 1 3
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Find the sum of 216 and 608. =

: — ) L AL
[N =
2 1 6 ‘/”,V
210 A
‘l | }
. P ——

+ 608

(/o | —
Y 7]

The sumof 7./, ,Kd 208 s W, ¢ /
v IV Y
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(3) The fruiterer sold 563 ;pples and 258 oranges.
How many fruits did the fruiterer sell altogether?

| be:




How much more do 2 cups cost than 2 key rings?
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Eg 12 + 2

=9 2 |1 2

1 2
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E.g. 48 + 4
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v 13
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q 4 0
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BERSEERIA

Look 4t the picture and solve the problem.(6%@3%)
$8 $5

a) What is the total cost of 2 hotdogs and 1 pack of potato chips?

/ Column forms

50
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b) Peter bought 2 boxes of fruit tarts and he paid 30 dollars. How much

change should he get?
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